After Planning

OutputOperator(21)

OutputDescriptors = {{<DocumentType,<OperatorNode(LookupOperator)<4>,DocumentType>>,<DocumentName,<OperatorNode(LookupOp

Orders = {[3_Score DESC],[19_Count DESC]}
Cost = BasicCost(FirstRead: 7518,166, FurtherReads: 7518,166)
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4 SortOperator(23) ) 4

BasicCost(FirstRead: 6858,178, FurtherReads: 6858,178)
Applied FDs: {{1,5,6} Order: Order(Id:9)
BasicPlanSetState(Cardinality: 10000, TupleSize: 165)
Reorder = True
SortFields = {3 Score descending}

SortOperator(32) )
BasicCost(FirstRead: 5374,987, FurtherReads: 5374,987)
Applied FDs: {{2,5,6} Order: Order(Id:10)
BasicPlanSetState(Cardinality: 100, TupleSize: 185)
Reorder = True
SortFields = {19 Count descending}
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4 MapOperator(3)
Produces: [{3,3 Score} ]

BasicCost(FirstRead: 4865,000, FurtherReads: 4865,000)
Applied FDs: {{1,5,6} Order: Order(Id:24)
BasicPlanSetState(Cardinality: 10000, TupleSize: 165)
ParameterMap = {Score,"(70 * 2_Score + 30 * 2 ProxScore ) / 100"}
Retamlnput = True

Requires: [[{0,0 Documentld,0 Position,0 Scope},{1,1 Documentld,1 Position,] Scope},{2,2 Score,2 ProxScore},{7},{5}]]
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GroupOperator(19)
Produces: [{19}]

BasicCost(FirstRead: 5365,000, FurtherReads: 5365,000)

Applied FDs: {{2,5,6} Order: Order(Id:224)
BasicPlanSetState(Cardinality: 100, TupleSize: 185)
GroupingFields = {<OperatorNode(LookupOperator)<14>,DocumentType>}
Sorted = False
Aggregators = {Count,Count(args=Null, fiter=Null) }
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Requires: [[{13,13 Score},{16,16 Documentld,16 DocumentName},{14,14 Documentld,14 DocumentType},{10,10 Documentld,10 Position,10 Scope},{11,11 Documentld,11 Position,11 Scope},{12,12 Score,12 ProxScore},{17},{15}]]

Type = Hash
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MapOperator(13)
Produces: [{13,13 Score} ]

BasicCost(FirstRead: 4865,000, FurtherReads: 4865,000)
Applied FDs: {{2,5,6} Order: Order(Id:224)
BasicPlanSetState(Cardinality: 10000, TupleSize: 165)

ParameterMap = {Score,"(70 * 12_Score + 30 * 12_ProxScore ) / 100"}

Retamlnput = True
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Requires: [[{10,10 Documentld,10 Position, 10 Scope},{11,11 Documentld,11 Position,11_Scope},{12,12 Score,12 ProxScore},{17},{15}]]
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4 MergeJoinOperator(17) )
Produces: [{17}]
Requires: [[{10,10 Documentld,10 Position,10 Scope}]; [{16,16 Documentld,16 DocumentName} ]]
BasicCost(FirstRead: 4715,000, FurtherReads: 4715,000)
Applied FDs: {{5,6} Order: Order(Id:24)
BasicPlanSetState(Cardinality: 10000, TupleSize: 145)
JomKeys = {{Documentld,DocumentId} }
Selectivity = 0,000125

JomnKey = {<OperatorNode(LookupOperator)<10>,Documentld>,<OperatorNode(LookupOperator)<16>,Documentld>}

JomnPrefix =1
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Requires: [[{10,10_Documentld,10 Position,10_Scope} ]; [{14,14 Documentld,14 DocumentType}]]
BasicCost(FirstRead: 3925,000, FurtherReads: 3925,000)

JonKey = {<OperatorNode(LookupOperator)<10>,Documentld>,<OperatorNode(LookupOperator)<14>,Documentld>}

RequiredPrefix = 1
MergeJoinOperator(15) )
Produces: [{15}]

Applied FDs: {{6} Order: Order(Id:15)
BasicPlanSetState(Cardinality: 10000, TupleSize: 110)
JomnKeys = {{Documentld,DocumentId} }
Selectivity = 0,000125

JomnPrefix =1
RequiredPrefix = 1
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4 ScoreOccurrencesOperator(12) )
Produces: [{12,12_Score,12 ProxScore} |
Requires: [[{10,10 Documentld,10 Position,10_Scope}]; [{11,11 Documentld,11 Position,11_Scope}]]
BasicCost(FirstRead: 3560,000, FurtherReads: 3560,000)
Applied FDs: {} Order: Order(Id:7)
BasicPlanSetState(Cardinality: 10000, TupleSize: 100)
Scorers = {Score,SimpleTerms(stdPos=20,minPosScore=0.2,stdNormFreq=2)}, {ProxScore,SimpleProximity(stdPos=3,rev
Combiner = Average(weights=Null)
GroupPrefix = 1
Required = -1
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LookupOperator(10) LookupOperator(11) LookupOperator(14) LookupOperator(16)

Produces: [{10,10 Documentld,10 Position,10_Scope}]
BasicCost(FirstRead: 2186,000, FurtherReads: 2186,000)
Applied FDs: {} Order: Order(Id:7)
BasicPlanSetState(Cardinality: 10000, TupleSize: 100)
Word = search
IndexName = Occurrence

Produces: [{11,11 Documentld,11 Position,11 Scope}]
BasicCost(FirstRead: 1149,000, FurtherReads: 1149,000)
Applied FDs: {} Order: Order(Id:8)
BasicPlanSetState(Cardinality: 5000, TupleSize: 100)
Word = engine
IndexName = Occurrence

Produces: [{14,14 Documentld,14 DocumentType} |
BasicCost(FirstRead: 265,000, FurtherReads: 265,000)
Applied FDs: {} Order: Order(Id:4)
BasicPlanSetState(Cardinality: 8000, TupleSize: 10)
Word = DocumentType
IndexName = Occurrence?2

Produces: [{16,16 Documentld,16 DocumentName} |
BasicCost(FirstRead: 690,000, FurtherReads: 690,000)
Applied FDs: {} Order: Order(Id:3)
BasicPlanSetState(Cardinality: 8000, TupleSize: 35)
Word = DocumentName
IndexName = Occurrence2




